AL RN R =

T * % R RO ICE R IR T3 (55455 5) VAL (Bidk) |4 21,170,000 M
T3 5 A [\BHEC\EANT RIgESE U AL 3 H 4 ()
A L o 5Ok [FEABEAL | OB | EA-ATE ERAKHI RS O e Y
MLEDZF | NMLEFEELR) ik MLEBEOAT | MLaFER) ksl
RS AT VI 21,300,000
ZRIEBRARAE | 21,280,000
Rkt | 21,220,000
PR FE AR A 21,250,000
A R A 21,170,000
RS\ H AR 21,310,000
i) B R AT PR | 21,260,000
TEMH (BLiA) 23,456,400 1 TEM (Bitk) 21,324,000 [
S AR PR A i (BE3A) 19,937,500 [ S AR PR (B 450) 18,125,000

AFLAEA R

SFN6AE8 H 30 H




AL RN R =

xRt X B 4 | LEBEHXKEPTEER TEICE IR | WALes (Biik) |—4& 1,000,000 M
T FE X B % Pt [J\EEAR/\BART LER WAL ¥ F 4 | BEUR i B EEMAES S
A fL o F ik (FELABFARL OB | ARz EAKHI RS O E AV
AFLBDOHFR | AFLBFAFLR) i§5 ALFEOLFR | AFLZEGELR) i 5
TH eI A LA MR A A 1,050,000
AT 2= 1,050,000
BeASHBIR a2 1,050,000
PR LA MR BIERE 1,0 50’000
A B AL BT 1,050,000
S IR e R I 2 IR e B e A 2 1 y 0 OO , OOO
T EAMRS (BiiA) 1,177,000 [ T EAMRS (Bl k) 1,070,000 [
A BRAT A% (BiA) 999,900 4 A BRAM A% (Bl £ 909,000 M
AFLAER B 648 H 30 H




